|
i
|
|
|
|

AennsseT  :101-200

HGS- sy, (Qung ifley)
Part-B (General Studies)

. Qwrss wHLG LeTEeT : 150
t : - .
B:fs lons : 101-200 Total Marks : 150

101.

102.

(b) Corbet National Park ;
(¢) Rajkir National Park 3.
(d) Ranthambore National Park 4.
@ (® © @
A 3 4 . 1. 2
B) 4 3 2 1
©3 4 2 <1
@3 2 1 4
(E) Answer not known
- QumTBES15.
. @g,é]uu L&
(a) A Csdlwy yrsT L.
(b) sriQul CaflwLr ymisT 2.
(©) @urndir Caflwls ymsam - N
4.

Cancer of the epithe]
(A) Leukemia

(C) Carcinoma

(E) Answer not known

élﬂﬁ_@ﬂmd) Glecellen 4m

1al cells ig called

(B) Sarcoma
(D) Lepoma

erenm QLiwif.

nGmmy ST
r&Camslwr P gt o

(C) smi@Cermiomr
(E) eenL QsAwelcrena

Match the following :

Ngtional Parks
(a) Gir National Park

@ @iy Coful gisr

@ ® @© @
A) 3 4 1 2
®4 3 2 1
©rs 4 2 1

s 2 1 4

(E) ofar Qsflweidame
: ' 27

(B) smirsCamwom

(D) OuGumom

States

Rajasthan

Jharkhand
Gujarat
Uttarakhand

wrbleotd
Qrreevg e
D&
GRITS

2 SGTEHTeTL
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103. Arrange the following events in the Chronological order:

1. Death of Pulithevar

Lo

Death of Kuyili
3. Death of Kattabomman

4. Death of Maruthu Brothers

Q) 2,31 4 (B) 1,2, 3,4
(©) 1,32 4 | D) 3,1, 4,2

(E)  Answer not known

&G Q*’S”@ése;uun'_@mm Bapaysear sreoeflaesLbsss.
L ualsCaauiarn g

GWelulen @iy

1o

3 SLLUGurbwefier @oriy
4. L®&ECangisafer @nuiy

(A) 2; 3: 19 4 . (B) 15 2: 37 4
Ok 1,324 D) 3,1,4,2
(E) e Qsfweiavae | | '

104. Who was the First Women Doctor in Tamilnadu?
(A) Moovalur Ramamirdham (B) Muthulakshmji Reddy
(C) Dharmambal (D) Pandithar Ramabai
(E) Answer not known
BSUDBTL 16T (PFED UG DWHESIeUT W ?
(A)  epeugyri gmomdligi (B)/'(BD‘{’)@QQ)I;&L& Qi
(C) piwmbLmer (D) LabTig it oy
(E) afleni Q@fﬂu,lmﬁ]mmsu
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1(]5'

Match the fo]l()wjng.
N

) st Five Yo,

(@ tar Play, l

b Second ive y, :

ar l)]:n\

o

L2 ) PP NN £
© Third Five Year Play

@ Fourth Five Yy, Plan

@ 0 @
A 1 2 3 4
B) 4 1 2 3
¢ 3 1 2 4
O 1 3 4 9

(E) Answer not known

Gereumeuareupanpls Qunmgss.

(@) pse BHsTETH Sl L.
(b) @reimnouz ghsan® il 2.

() eperpraug phsren® S 3.

liconomic stability
Growth with stability

Problems of refugees, food shortage
and inflation

Self-generating economy

Qunmernany Hlevegseento
HeDSSETEDLOW|L G Folq Ul eUETTES]

@45{@‘;]‘&;611, 2 @6y LHDI&ESED LHmib
Laei&s Slésaaer

(d) BTET& TS g‘r_'r,grrem@\ Ql;l_m 4. sw &@@Jrrééa_su QummeTTg LD

@ ® @© @
A 1 2 3
® 4 1 2
€ 3 1 2
D) 1 4

o W B

(N

| (E) efenL Qg,ﬂw@%)em@)

29
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_ +v find the L.C.M of p and q fyy,
106. If H.C.F. of p and g is x a4 9~ xy, find the o 4 Irom th

following

(A pq

(B) qv

(C) xy

(D) py

(E) Answer not known

Qumg @J@,ﬁ;ﬁﬂ X LD!-DQJ'-D q. xy erafléd, P HMID q-ay Lsgé]
@Gﬂ@pgj &ITEHT .

1

P wpmib g-ér BUGL®G
Qug wLkims ECu|dTeTald

(A) pg
B ay
1 xy
D) py
(E) e Qsfweiicrancd

107. The length of a rectangle 1S (3x + 2) units and 1its breadth is
' (3x — 2) units. Find its area. (x = 20 units)

(A) 3596 sq. units
(B) 3956 sq. units
(C) 4256 sq. units
(D). 5356 sq. units
(E) Answer not known

@@ Qeciausgder fard (3x +2) s @aser LHMID AF6T s (3x — 2) DG
erafléd Sigem LTliLeTaneus srams. (x = 20 DIV (G5ET)

by~ 3596 s.ow@Ese
(B) 3956 &. i@
(C) 4256 s.o@Gs6r
(D) 5356 . @@
(E) efen Qsflweddene

- CCS4T/2022 | 30 | ;



108-

109.

P —————

f 1"‘. a, b. ‘—3 are \ . . , qlue ()f
It 1c¢ € 1m [\P‘thn\(\ﬁ(‘, p]'()gl"(‘rﬁﬁy then Wh“t 164 th(y Vd]

(@ + I’))
© B (D) 21

(B) Answer not known

18.a. b, =3 Gewan SLB$QsTLiT euflansufeh o_arergl el (a+ b)-ufer LS
ST,

@ 7 (B) 11

© 15 ) 21

(E) elen Qsflweldane

A person saved money every year, half as much as he could in.the
previous year. If he had saved totally 27,875 in 6 years then how much

did he save in the first year? ‘ ‘
(&) 2 3,000 ‘ B) 2 4,000
(C) % 4,500 (D) 75,000
(E) Answer not known

on put @aQarp JEODL ASHE wimswu e Cellss Csresuien
rew Csdsdpni. 6 ayan@sald sai T 7,875-gs Cadlsdpni aalld (s

e Gelliy .
(A) 23,000 (Bm,ooo
(C) 74,500 - (D) 5,000

(E) eflen QgMweiicrane

31
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110, Undey the duties of the father; what is the duty of the fathe, to-

S ) —_— O N . ' -
O —as found in the Kural.

“Wm \ ‘ . yy ‘-,) '
“Mm,hm magarkaatrum nandrr” = '

(A) Avaiyil Munthi irukka Seyal |

(B) Selvathil Munthirukka Seyal |
(C) Kudiperumaiyil Munthiyirukka Seyal
D) N ermaiyil Munthi irukka Seyal

(E)  Answer not known

GTEITEH) b Sms@peflan Ly sH@s WE@ESGE AeLD Bl aTg)?
J7 g widdpsaé Qsise

B) Gswaisdo wpifidmsss Asisd

(€)  Gyudupovtie widkinsss Asigd
(D) Cpiwwuie wpslinsss Qause

(E) oL sfucibme

111. The first surveyor of the Archaeological Survey of Indié (ASI) was -
(A) Charles Mason (B) Alexander Burnes
(C) Alexander Cunningham® (D) Sir John Marshal
(E) Answer not known

@rHws Asradd iieys gopuldr Wad <l

(A) g6 Gosar (B) <iQesemem_i Lienen
QY siQassrar_i sarafitaoms (D) & mrar wtagd

(E) afenL Qsflweildme |

| ' f
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112. Match the aw

ard ‘4
ards wit), recognition :
Award

Recognition
(@) Perumthalaiyy,

Increase enrolment in school
Kamarajar award 4

(b) Puthumai Palli Awarg 2.

Award for top performers
(© Kanavu Asiriygy Awarq 3

Improve socio economically

marginalised student

(d) Radhakrishnan AWargi 4. Service of the best teacher

@ M @ (d)

A 4 3 1 9

B 2 3 1 4

© 1 2 4 3

D) 3 4 2 1

(E) Answer not known

NGEEL Y WHMILD @{rm&a;mjg,mg,u QurmHEEs :
RAIGES: L0 v DIBISSTIFLD

(@) Qumpsamear stogrer alme 1. Ldtels Gersemsm 2 sMg 560

(b) . qgjemmj' veref ol @mg | 2. fpps Qeweum iy Hamer RAIGET. £

© sarey ANwT &9ms) seps, Qurmertsry fHwres Gensmidw

LoremTeuTsEemer Golbu(HSs)se

d) TsT & pesean of s | 4. A0 Leluld Embg) eflerri g g6

@ ® © @
(A) 4 3 1 2

® 2 3 1 47/
®% 1 2 4 3

D) 3 4 2 1
(E)  eflenL QgMwefldene
33
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113. Choose the correct Pairs :
: thers
1. Ondiveeran Maruthu Bro

T .
2. Gopala Nayakar Dindigul Leagu

Kuyili Pulithevar

3
4. Muthu Vaduga Nathar — Kalaiyaarkovil Battle
(B) 1 and 2 are correct

(A) 1 and 3 are correct
(D) 2 and 4 are correct

(C) 2 and 3 are correct
(E) Answer not known

silurer Qamansmers Caia) GFUS.

1. e eSyer —  mg sCasTsrisET

2. Garume prussi  —  Sen@ssd swLewly

3. @uﬁﬂeﬁ] — s Cseur

4. WiszuBHSHTST ~ ETEETWITT ICSa;erS]GD Curmi

(A) 1 wpmbd 3 (B) 1 wpmbd 2 &
(C) 2 wpmd 3 & (19772 wHmitd 4 &rﬂ7

(E) ofen Qsflweilcvame

114. How does Valluvar compare the wealth of a wise man?
(A) Tank brimming with water ~ (B) Ocean
(C) River (D) Lake
(E) Answer not known |

prau@mLw  Qsdad  FupsTLSSDHEH uumu@mmg @Jm@mn GrgGGUT"@

UGS pmiT? | |
(&)~ eapend o (B) s
O <= D) &

(E) ofen Qafluaiicena
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t to west are
| e A { runsg from east 0L
Three€ pivers 1 'emmmsulay India that

110-

A Mahanadi, Godavari and Krishna
) Krishna, Narmada and Tapti

© Narmada, Tapti and Mahi

) Mahi, Mahanadi and Godavari

Answer not known : @ 7
suspu @pHL piselie HpsHao Gmps GO P

(A) waerpd, Cargmeufl wHmb & meiperT
(B) ey, HIL®S LHHIDL U

© pro®s. sUH wHDD wra

(D) wrad, wsrpd wHoib Cargmeu

(E) &fen Qafwellcvenay

116. Identify the correct pairing.
(A) Nucleoside — Nitrogen base + phosphate
(B) Pyrimidines — Cytosine and sugar
(C) Purines — Adenine and Guanine
(D) Nucleotide — Nucleoside + sugar

(E) Answer not known

sflunen @anemrenuwis st B9y .
(A)  BluselCGurams® — @bl men sMob + LrevCL L

By afblgensar — et CGLrflen wppi siésamy
(C) Gy flensen — ojiqeneoen OHMID (&G TG GuT GdT

(D) Bl sef Gusment (i) P se Cuinemnea i) S5 3,601)
(E) |

ahle g Musaheranen

B
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- 117. Match the following:

(8) Sivasubramanianar Kayathar Fort

(b) Kattabomman

1
2

(¢) Marudhu Brothers 3. Nagalapuram
4 ‘Thirupathur Fort

Sangagiri Fort

(d) Dheeran Chinnamalai

YR © @
A) 3 1 4 2
B) 3 4 1 2
©s3 1 2 4
4 1 3 2
(E) Answer nbt known

QummBSHS :

(a) Haugtigoeilwemi 1. swusstm CameL

(b) sULQumbwer - 2. srsdf CamlieL

(c) m@gj gCargrisdr 3.  BI&@TLID
4.

(d) . Srein fenaroamae SHmuusgnt CamieanL

@ G ©

@ns 1 4 2
(B)_ 3 4 1 2
(C) 3 1 2 4
@ 4 1 3 2

(E) oo Gpflucioma

CCS4T/2022 36



' - eriod.
118. Match the correct classification of 1Jand duririg the Gupta perio
(a) Kshetra

1. Waste land
(b) Khila 2. Cultivable land
(c) Aprakata 3. Habitable land
(d) Vasti 4. Jungle land

@ ® (@© (@

A1 2 3 4
B4 2 1 3
©2 1 4 3
3 4 1 2

(E) Answer not known

| ; j &.
T sressen Hlonismen &péaem cubpiLer sflwres QurmsHH
GEE as;r =

' il LD

(@) Gegym o ol _ .
| 2. QGeuerm@mends@ 2 &b Hleob

Seom - 3 .
(b) L8 @ylmuusHE 2 shs Hlab
(©) <wrssT R
‘ @ ) o8 4. euan Hloowbd

QUEL

@ (® © @

4
A) 1 2 3 )
® a4 2 1 i
C) 2 1 4

2

(D) 3 4 1

(E) ol Qpflueiloo®
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e e e e e

119. How many triangles are there in the following figure :

/ E\\\
/ ~

/ N

——— SS———S

A) 12 (B) 13

©) 14 | (D) 15
(E)  Answer not kngwn -

Shaaim_ UTULSSle arsgman (PECHTEIEIGET 2 dTeTe ?

& V™
e % ;/l \k—\
A |
A) 12 | (B) 13
© 14 | - ®))15
(E) &9en Qsfwuedera B7

120. Which number is in opposite plane of 3?

A 1 (B) 4
(C) 6 D) 5
(E) Answer not known

3-6& adlymen geatbdler 2 6Tem erehr ergy 2

PE

@A) 1 (Bﬁ4
o 6 D) 5
(1)  ehleni_ Gpriluiaiidana ‘
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12

2.

1. How many times ¢

an you subtract 10 from 1007
(B) 100
D) 9

A 1
(€) 10
(E) Answer not known

100-aSlopsl 10-83 2 cannes ergganen anp H056 gUD?

(A)_,. 1 - (B) 100
«) 10 D) 9
(E) o&fer QsfwefNcvenc

th
Mukesh can do - of an work in one day. In how many days can he

complete the same work? °

A) _2l days . (B) 3l days
2 2
1 N 1

© 45 days (D) 55 days

(E) Answer not known o Q/;Y \o/P
. K'

2 .
WCaeiy g Hrefed — LGS Caumeamw Cewug wprlunt aafld assamer BTL_Gertle -

7
<icCauemaen (P(HENLOWTS Q&g (PlgLILm?
~ 1
(A) 2% BT GET | (%-2— BIL_&aT
© alpmser D) 5L prser
: 'Z'IBFTL. 5

(E) &fen C,l;blﬂlJ,Jevﬁld)ma)

39
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123. Match the following:

()
(b)
(c)
(d)

(A)
(B)
(€)
(D)
(E)

&Qé;a;c&mum@a;mm PODWITE QAUm(BS815.

(a)
(b)
(c)
(d)

(B)
©)
(D)

The Consumer Protection Act
The Legal Metrology Act

The Essential Commodities Act
The prevention of Black

Marketing Act

@ "® © @

4 3 2 1
1 2 3 4
3 4 1 2
4 1 3 2
Answer not known

misTGeurir LITGI&TLILE &LL}D
&1'_-|_ Sjerailwed gL b .

IS W Teu ity QU@L s6T &1L 1b
&emens EhensLLI(HSSSD FbH L

FLLLD

@ O © @

Wy 43 2 1
1 2 3 4
3 4 1 2
4 1 3 2
chlenL. Gsfwalcrene

(E)

CCS4T/2022 40
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1980
1955
2009
1986

N e

1980

1955

2009
1986



194. Which city is knowy, 54 «

(A) Hyderabaq
(C) Chennai

(E) Answer not known

Electronic Capital of India”?

(B) Bengaluru |
(D) Delhi

wred
2@:;? ) L&GUTGU“UJQ) §>6®G\>§)G‘:Um GTGNQJ é{mkpaag;uu@w g)eamo GTQI'?

@SS
(C) Qeemenen

(E) e @g,rﬂu_!gﬁ]@mm

(B) Qurusemm
(D) QLéed

Correctly match the component and its use in a circuit

Component
(a) Galvanometer

1.

(b) Voltmeter 2.
() Ammeter 3
(d) Resistor 4,
@ ® @© @
“(A) 4 3 2 -1
B) 2 3 1 4
©) 4 2 3 1
D) 2 3 4 1

(E) Answer not known

Wl etrgam

(@) sroeuCerm LBL'_L'_I:I' 1.
(b) Geumér B 2
(€) oywlBri 3.
(d) Lﬂéﬂg,ml_u_lrré;aﬂ 4

@ ® © O
@a 4 3 2 1
® 2 3 1 4

s 2 3 1
™2 38 4 1

(E) efer QgMweildae

Use of the component

Used to fix the magnitude of the current
through a circuit

- Used to measure current

Used to measure potential difference

Used to detect the current and its directions

@ Wershlaerer Ll6msnpisener |G LllLIGOTl.l[TL@l_GUT gRlwng QUTHEE)s.

Wergadlesr LweTum(

NergdMed  Lmuyb L&GN@GUTI‘I’LL(S’;{@GE; S{eTE6
Hirerun Qslw vweaTu@E g

WenGearmLseng iemedl |
Benan(pss GCeumum e ered

enGanmL b HmID Fen Hanganwids s Huw

41
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126. What are the ornaments of a nation according to the sequence g
Valluvar?

(1) Wealth
(2) Joy

(3) Defence
(4) Health
B) Yield

A) @), @), 6), (2), 3)
B @), @), 3), 4), (5)
©) @, 3, 6),2), Q1)
D) @, @, 3), (5), (2
(E) Answer not known
BT g @ siefswamarupmp aueT@pai erhg euflensude g,gsg,jmmnfr?
(1) Qseeud

(2) @erud

(3) guww

(4) Qefueneno

(5) efleneray

(A) (4), (1), (), (2), (3)
@B (1), (2), (3), 4), ()
) (4), (3),(5),(2), 1)
(D) (1), (4), (3), (5), (2)

(1) eflen Opfiluehldenc

12 p
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0. Choose the right matcl, .

. 1.

o

(A)
(B)
©
D)
(E)

Taxes levied ang colle

but Assigned to t} -
Duties le

cted by union
ate

vied by the union but collected
and Appropriateqd by the state

Tax levied and collected by the union

but which may be distributed between
union territory angd states

1 only

2 and 3 only
1 and 2 only
1 and 3 only

Answer not known

sflurer Qeareanws CoibosH :

1.

(&)

wEHL SiTETd HESLLLE), euEGssuLL ()

THOBS@EHEE REISHE Gl UETHISE

—~ Art 269
— Art 268

— Art 267

- agrsg 269

mgﬁm @pend o98ss0ul (), e wrfleo ors - ewrsgs 268

Qu@GaILILG HDID LweTL(HSSeug
wsHL @iraned elHss0ul(, uGdlEsIuL(H
wrhlomsd oD waluer ArGsetisense

LéTpsefsasamiqw alaer

1 e @b

m@m 3 LW

(C)
(D)
(E)

1 wpgud 2 wGid
1 whmyb 3 LLBHD

eflenL GpMwadicama

43
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128.

€CS4

Find the odd one out.

(A) Illamchetchenni
(C)  Perum Cheral Irumporail

(E) Answer not known

(B) Kochchenganan
(D) Perunarkilli

QurEBSTEMSE Hem (9.
(A) QererGal_Qaenafl (B) CangQerisemrmer
©) QuEpECsro @nbaurmp (DY Quemppderef
(E) . efen QgNuaiicoana

. Which of the following statements are true about the post sangam age?

(1) Pathinen keel kanakku texts, include eighteen texts which mostl;
deal with ethics and morel codes.

(i) The most important of these Thirukkural and Naladiyar.

(111) Silappathikaram and Manimekalai are. the two texts deals witl
Cultural and Religious history.

(A) () only True - \¢ (B) (i) only True

(C©) (), (1) only True . - (D) (), (iii) only True

(E) Answer not known ‘ : :
SLp&HeuTL aunsHutisae sk el sTesH e Filwimer oMl eTEHI?

(1) udQer(h Breosemer 2 erarLsduw ué,]@me&ar&gpé;a;m&@ BIOs6T Glumbumgl
R(W&8 Hpdlapepseaerts Lb ENVE L , .

(11) SjeupmeT HmsESnEHLD, [BITGVLq WIT(THLD (PSETENDWITETS M(S)1Lb.
(ii1) Aavudsmyypb, veflGosmaoyn  UdTLTE LOYID  sLWEms LD

snmIélemmen.
(A) (1) wiE o (B) (i) wr@w &
(& G), (i) wr G of D) @), (i) we g o

(E) eflenr CgMluschlcbenay

T/2022 14 VL
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130. Arrange the follow

' g News W'y ' 'Thanthai Periyar in
chronological orde, wspaper's and Journals of

A
.

1. Paguththariy,
2. Viduthalaj
3.  Kudiarasu

4. Puratchi

A 4,2,38,1

O 3.2.4.1

(E) Answer not known
SpEsTLeupH @ - , U ) . b
ST DI m‘ﬂg’g’uuﬁ@ggﬂ.‘nﬂmmﬂm - Qeudssrasmenyid,  @)shEmE
L uesshley

2. s

3. Gqurs

4. ygié

A) 4,2,3,1

€ 3,2,4,1

(B) eflerL QsMwelcrena

) 3,47
3

(B , 2
D) 2,3,1,4

1
1,

B) 3,4, 1,2
M) 2,381, 4

131. Assertion (A) : The Indian heritage advocates hospitality, charity,

friendship, love, respect for parents and elders and
tolerance. '

Reason (R) : All these help the people to live in unity.

(A) Both (A) and (R) are true (R) is the correct explanation of (A)

(B) Both (A) and (R) are true (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) 1s true
(E) Answer not known |
s : @pdw  umppuflun  aaug  EECsTbLD, Fos, BLY, ey,

QuACDTe@rYL wHD Cuilveismetyb wLHSSD WwHMID F8lLS
SEITENLDEN W U MISGIUSTESLD.

snead ©  Gpaadu L@ s Cappi@bamar LPHE WESET @DHIELLL 6T T
2 ga|dlGna.

Qf)/lfnrfbgjlb grgampld &f, sryamd sadHISETE glwmer efleréaid

(B) B fHLD SITEmT(LPLD g, sryenTd mpmsanear sflwurer eleTésd e

(C)  sagyy &, sryed o

(D) g B, S111]GO0TLD g

(E)  eflent Gaflueildama

B ® CCS4T/2022
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132. The birth I‘.ate is estimated 1n terms of .
(1) Number of births per one hundred population in a given year
(11) Number of births per one lakh population in a given year
(111) Number of births per one thousand p'opulation in ten years
(1v) Number of births per one thousand population in a given year
(A) Q) only , (B) (ii) only
(C) () only (D) (iv) only
(E) Answer not known ’
Uiy eNdlgb @ser g lueauid LDQ;\I'JIE]L.ILILI@@E@].'
D em &MU L opamgd By wéseT Ggrasuie Onbsersefer erememtsams
@) em GAUEGOLL amged @b @61)1_5 wésear Ggrensuild Gpbseuisafadr

cTevTEmt&en s |
(111) uss <par@seafled <uidrb wsseT Cgrmsude ADHESeuTaaT e 6rememisms
1v) @ G&MUL L <yemig e écbuﬂqfo LD&&ET Qgrrmasdéﬂsb ﬁmﬁg,mr‘r&erﬂairr cretmranfléens
(A) (@) woED ~(B) (i) wrEeb
(C) (iii) wr @ N\ B (V) wi @
(E) o&fen Qsflwelidvena |

133. If the difference between C.I. and S.I. on some principal at 15% p.a. for
3 yearsis ¥ 1,134. Then the principal is A

(A) % 16,000 " (B) % 15,000

(C) % 14,000 (D) % 20,000

(E) Answer not known

15% =0 il iguiledr 3 aThsErsEGs HoLsEh sl @ QJ]‘_Lq_é;@Lb.' gaﬂ
el ig s e Guiujerar fgHwran T 1,134 erafler sigam oise

(A) % 16,000 B = 15,000
(C) % 14,000 (D) % 20,000

. (.4
(E)  aflent. Gglluehildona
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134.

135.

4P+Sl’9 R#A 37 Tp,\'/‘ﬂ,;) (;({*Q((l), |
If the first half of the
element will be foupte
U
© Z

(E) Answer not known

series is written in reverse order, then which
enth from the right end?

B) A
D) +

1P+Sr9B#A3]Te>Z%6d* Qa1
QerBssLULL Qgm e Vs utdew WarGamsE euflasuiad eupdamed aumnHb
QgmLflen UG UESSESMbg) 14-cugTs @D 2 pudoars sTars.

@) > (B) A

C) Z W

(E) d&er Qsfweidrene

10 farmers will plough the land in 21 days. In how many days
14 farmers will plough the same land?

(A) 14 days
(B) 15 days
(C) 16 days
(D) 17 days

(E) Answer not known |

10 dllavsmlser 21 priselld @6 Hosms 2ws (ysdaper dald «Cs
flosems 14 eleugmiser aggmen Briseild o pg wpyliui?

(A) 14 prsen

(B 15 prcser

(C) 16 pucsar

D) 17 g sar

(E) elleni_ ng,l‘rlu.lc,mc,’uc,mc,n
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136. Which among the following is/are correct about the Judiciary in India?
(1)  India has borrowed the concept of Judicial Review from the USA
(1)  Both the federal and State laws can be subjected to Judicial Reviey,
by the Supreme Court.

(1) The Constitution Article 13B saves the Acts from Judicial Review,

(A) (1) and (ii) only

(B) () and (iii) only

(C) (11) and (iii) only

(D) (@), (ii) and (iii)

(E) Answer not known

@rdwreler BHuyemmiey LHHL &Q&ns&mpmm@m o1/ ereneu gflwmeneneu ?

O  @pdur By eTymiey e &H(HESSI(Heeu a@mrﬂé;a;rraﬂc&@(rb@ Quppg

Q) geadu  womb brfle  slLmisd @ranOh 2 de  BHoensda
Suyerymie|s@L u@n - | ' ‘

(111) erflueewvoy s n9fle 13B ﬁﬁg,gjmm LY Uie] eliums O&8Ds

S () wpg (i) wrn |

B) Q) womw ({ii) wrEb

(C) (1) wopmd (1il) wr(Hib

D) @), (i1) wpmo (1ii)

(E) ofenr QsMwelcrena

137. Which one of the following Articles empower the Supreme Court and
High Courts to issue writs?

(A) Article 23 and Article 226 (B) Article 32 and Article 228

(C) Article 226 and Article 36 (D) Article 32 and Article 226
(E) Answer not known

Gleamen (mib FLU L) 9feygefcd THBE FU_L QM o Wit o
Quuw/;mm et 1Apniés oflsnb oefsdeanng 2 o BHwanpsSdG

(A) s lMey 23 whpib 226 B) sl u9fley 32 wppw 228
(C) st L Cilay 226 wpmnd 36 MH'LI;.,.lf.lt,(_l‘ll‘ﬂ‘q,1,| 32 wpmid 226

(K ) eilent Glylwehldena
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138. Pick out the correct statem ents -

Statement 1

tidal foregt.

Statement 2

(A) Both statementg are true
(B) Both statementg are false
(C) Statement 1 is true 2 is false

D) Statementv 1 1s false 2 is true

(E) Answer not known

sflwrer cursSlusenss ConpAsRasa -

aursfwm 1 : shaes-ArbwLssHrr QLo u@Ssafle

BlewssTHaer o drerar.

ursHwub 21 oeawnsHs (s “omagGrmen”

Siep&aLi B Elemar.
@& Qe eursSumisEsD &
(B) @Us&fr(b\ UTHSH WRIGEHD. SN
C) armsdwn 1sM; 2 seum

D) eursdww 1 salm)l; 2 &fl

(E) efarr Qg Mweeea

49

The delta of the Ganga Brahmaputra has the largest

Tidal forest are also known as mangrove forest.

BsuGuilu  sgoy

sTH&ET  eremm)

CCS4T/2029
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139. National Panchayat Raj Day 18 observed on
(A) 24" December
(B)  24™ August
(C)  24™ April
(D) 24™ September
(E)  Answer not known

Cadlwr sargmi & prer ————— G-
(& w&bur 24

(B)  ssevr 24

©) qure 24

-
B Qeuwui 24

(E) e Qsflwelevenew

140. True righteous/virtuous life consists in the avoidance of four things,

what are they?
(A) Jealousy, Ambitiousness, Anger, Unwanted Abusive Words

(B) Aram, Porul, Inbam, Veedu

(C) Enjoy, Sound, Laugh, Peace

(D) Lust, Anger, Doubt and Action

(E) Answer not known

“Blupssn BUETDE DD’ — GTeneu ?
%/r&i(tg&angj, gjeurn, Geugef, @drarméQame
(B) .zimb, Cummer, @eérub, aifk

(C)  whlpsb), sppblHad, ANEED, siamwd
(1)) winwb, Gasel, wwdsib, alenen

(F5)  chiaon o fluehldoenen
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1. which of the following

statements are true?

() CDRI - Central Drllg;‘ Research Institute has developed an

indigenous R’ : : ]
sehous RT - PCR diagnostic kit “Om” for testing the Omicron
Vanant of Corong Virus |

(i1) Om.ls the first kit made by any government institution for specific
testing of Omicron.

(i11) Olll_ 1s. the third to be made indigenously for specific testing of
Omicron (Corona Virus).

(A) (1) and (i) only

(B) (i1) and (iii) only

(C) (1) and (iil) only

D) (@), (1) and (i11)

(E) Answer not known

Spseramid eunsdlwikisafic GTG’O’)QJQUJQ)GUWU')‘ #f o

1) wsdu wEmss <wrmuEd Hpeuens CDRI GsrGrram aeugedler QRUIGTTET
prgum @l Cerdés 2 dampmigGatu “Om” aaub ig-98ei semHlub
&med 2 (FeunsdlueTengl. :

() qbammeflar GAOILL | Gorgmas aps @G A& Hnicuardsme
o HaUTEEILLL: (g sEell “Om”

(iii) 2 arpm’ g GaGu suMssLLLL  epaTpTaIg) QsnCrramm eaugen  Gangeer
smed  “Om” '

(A) - (i) wpmd (11) LLED

(B) (i) wppo (iii) GO

(C) () whmyo (i) LG

B (i), (ii) wppw (i) eassDd

(E)  eflen G)gﬁlwaﬁ]d)mw

51 CCS4T/2022
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142. Match the adulterants of the food :

(a)
(b)
(©)
(d)

(A)
B)
©
D)
(E)

Hydrogen peroxide 1. Shiny appearance
Food colours 2. Milk

Calcium Carbide 3. Fresh look
Carnauba Wax 4. Ripen Bananas

@ ® © @
1 3 4 2

"2 3 4 1
3 4 1 2
4 1 2 3

Answer not known

EpssarL asa)ﬁlugg,émg, 2 anGaun® @eewr Qs

(a)
(b)
()
(d)

(A)

X

(©)

(E)

EDEQUD L [Ten6hT Quyréenen h) 1Y veruertiumer Csmhmn

2 a6 BlmewpL g ser 2. . une
&revdlwiib 5rr_r'remﬁ® 3. usemws CsrHmid
smiGearmur Qowe -~ - 4. mrrsmggupgg,emg,u L& smeuuug,b@
@ b © @

1 3 4 2

2 3 4 1

3 4 1 2

4 1 2 3]

cflen i GgMuweilecrena
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143. Read the following passage and answer the item that follow. Your

answer to this item should be baged on the passage only.
| Passage
Swadeshi Steam Navigation Company marked a
spectacular development i, the history of the freedom movement. Eager
to revive the naval tradition of the Tamils to provide practical training
in ship building to the people and determined to challenge the British
Monopoly of maritime traffic, V.0. Chidambaram announced his decision
in 1906 at Shiyali to create a Navigation Company.
Which one of the following is best implied in the passage?
(A) The steam Navigation Company earned a good income in those
days which marked an impressive development.
(B) The creation of Swadeshi Steam Navigation Company stopped the
British Monopoly of Maritime Trade. ,
(C) V.0. Chidambaram was dependent on taking any decision with
regard to Navigation Company affairs. | |
(D) The restoration of Tamils Knowledge in the Naval tradition was

the objective of the creation of Navigation Company.
(E) Answer not known |

The creation of the

Qereu(md LsHepws Ligsg Geraumd eflameiHE Ué]a)aﬂésa;mm.v Qs LGEssTer
o mser USD LsHGear gLl b G Qmés Cauamhib.

: ®4 G .
5Gs8 aved CrellCsagen Hpeuasden e (Haursswb sabET @ua;asg,@m @Juwrr,rp_g‘)]a)
Q@ DDUsSLITET eueTiFflowsd SN slpisefien sliL® sLHWD urrmp.urﬂu_lg)efs)g
BLOLPEGD Teusded 1WEEEHEES sLUD sLOUHD Bl (pEDL uufﬂ,r_r)Q
siefsseyb. sl CUTs@aISH® Gflligel gesGurssdnE soumed eHHeusled
2 NALMEE|D 6u.2.. SGLUTD 1906@)e as_ﬁu_lr.reﬁ]uﬂd) @ CpraiCaayer Hlpeiadas
o (FEUMEEEUSHETE SATS (Ply®al Pefssi.

Yéneupeuareup e ersl LgSudled ApLiLnss @@ulﬂl_gu@é]g)gj?

(A)  Gvweld (gg,ag](gg;@q,m Himeuad 3NbHS ,r_ram_'_a;mﬂd) BO® GUHLOMETSS FFLigWig).
@g em FT8855 80 g W auenrEflewd GNSs5s). '

(B) &Gs8 evied GrellGaagen gOualufer o (peunssd sLd cuailasdad G igey
SeGunapeon BDADUS P |

(C) ane. Agbumd CrelCaagem Bipieuer aﬁ\@.uaarrmma;m QsTLiTuNg ThS (Plgemeuu|bd
e apesecots eibRGHSTT

' T Awsdd sllpiseflar eibleen BLCQLLLE CrhellCaagpe

By suus s G ummuﬁujjr;m Gfbmmmn@m.

Bipeuengens 2-(5eITS
(E)  afienr Qafilushlcdene
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144. Assertion (A): Micro irrigation technology helps to have a higher yig|g |

when compared to the traditional irrigation method.

Reason (R) : Micro irrigation required moderate water supply g

regular intervals, reduction of labour expenses, Increase

the usage of fertilizer and the yield.

(A) (A) is true but (R) is false

(B) (A) is false but (R) is true |

(C) Both (A) and (R) are true but (R) is the correct explanation of (A)

D) B;)th (A) and (R) are true but (R) is not the correct explanation
of (A)

(E) Answer not known
spm (A) : pieenttt umrsar QsmAlom b, urpbuiy Srurser - Wepsamer
el Lirsefler oife LEED Halsas aufleuens QFidlng.

| STy&uTid R) : mewenti urgen g‘;h'_l_gﬁd) Sareurar Bir Eymen sre @enL Qeueflude
| urru'.:é&ﬂu@éﬂjpgj veflur  sefler  Qeoencus GS®nEF, 2Ll
CuweTUT (HsSmen <2fsMuuGsr@ eleerssmauid <ifaMNsHng.

(A) (A) &l; e (R) e

B) (A) saup: are ®) of

@ (A) wpgid R) &l apirmer (R) ereris (A siluren oflargsis e |
D) (B) wppo ®) s sarme (R) aeng (s sfuner censass sise
B) o Gpfluaiome
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145. 94 18 diVifled nto two parts in such a way that the fifth part of the first
rfmd the eighth part of the second are in the ratio 3 : 4. Then the first part

1S ;
(&) 28 | (B) 30
(© 36 (D) 40

(E) Answer not known _

PP @M LUGH LIYDL alga gm ugd @ QB LGHurs UflssluCL
e 94-@Qen llgd 3 @ 4 erafed SIBE (PHD LGS ™

) 28 B 30 %g' 3

©) 36 (D) 40 i

(E) oclen Gsflweldena Q

146. A group of letters are given. A numerical code has been given to each
letter. These letters have to be unscrambled into a meaning word. Find
out the code for the word so formed from the following.

RMENIBU
WOV L L L
1 2

3 4 5 6
3 (&) 625314 | ~ (B) 462531
(C) 462315 (D) 542531

(E) Answer not known
asgsaean AsTEGUY @D 5Cp Qar@ésuL () 2 derg). @euldaun TPSHESD -
sallgsafiCu  eram GHSH  auprsLULGETeTE. @slsreLuy epsgisaman
ALbOLWLTEE brpPu@osstd CuIGEsda urismss SoLsED. e,
LHsras sam® Db auTiSmabamer cam SOSHsmes srams. <

RMENBU

L vyl

1 2

3 4 5 6
R 12 o
ot
(&) 625314 | @ 4625317
(C) 462315 (D) 542531 e
N v
(E) 69\36?6‘7\1_ Qs Mweiiema

B ; 55 |  cc¥itizoss
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147. Match the following :

(a)
(b)
(c)

(d)

(A)
(B)
©
D)
(E)

Sarkaria Commission 1. Tamilnadu Govt.
Rajamannar Committee 2. Akali Dal
Anandpur Sahib 3. Supreme Court

Resolution

Bommai Judgement 4. Union Government

@ ® © @
1 2
4 1
2 1
3 2

4
3
4

B~ W b W

1

Answer not known

QummSsIs :

(a)
(b)
(©)
(d)

(A)
&1
(©)
(D)
(F)

gisamilwum <, eewrwib 1 SUIPBT(H HTFTEISGD
@Ungmsineumr'r & . A&l SarTLD |
S@HSLILLT FTadlL gﬁ'LDITGUTLb‘ 2 §ghdenmLd

Qumbeno STy - g STETRISLD

~ o

@ G (@© (@
1 2 3 4
4 1 2 3

2 1 3 4

3 2 4

elen Ggflwelerana
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148.

149.

“Which one of the followin

(A) Hiran g is the right bank tributary of Narmada River?
n

(C) Banjar g)) I;Zi,iner

(E) Answer not knowp ’

\Gl6meu (heu T i m) et e ,lbfTLDmg, SADOE QUE G FIDET DI A @LD.

(A)  ablyen ,(B(j“r .

(C) uepsm D

(E) oflev Qg,[ﬂuJQg@d)m (D) seur

Match the place of excavation with the district it is located :
Place of excavation

District
(2) Keezhadi 1.  Thoothukudi
(b) Korkai 2.  Ariyalur
() Gangaikonda Cholapuram 3. Thanjavur
(d) Kurumbanmedu 4. Sivagangai

@ ® @© @
A) 4 3 2
®B) 3 2 1
(C) 4 1 2
M) 1 4 3
(E) Answer not known

SFPeUTTTLIFS @)L misemaT SIBET LorraJl'_l_ggjL_sisr QuTBESS.

N W o

SIBPUMTEES QL hsaT DTeULL LD
(@) Sy 1. 686G
(b) Qampers 2. <flwgyrd
() smems Qarem.. GempuTd 3. F@EHETQIT
(d) @mHouaCw® 4.  Seasnums

@ ® © ©

(A) 4 3 2 1
(B) 3 2 1 4
27 4 1 2 3
D) 1 4 3 2

(E)  efeni Qg,[ﬂujaﬁlcbmeo

67 CCS4T/2022
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~ 150. What are looked upon as the “true jewels” for anyone by Thiruvalluva

- (A) Love and Virtue
(B) Hu»mility and Pleas‘ant Words
(©) Knowledgé and Power
(D) Family Life and Renounced Life
(E) Answer not known
QOHUBEGE  EDbE cgmﬁmeisrasmnas @mriLmas  eTer  QUETERET  GTaIDa@DS
GO Qe ? '
(A) e SipeyIDd
;B"mﬂmm @sﬁr@an@@,m
(C) oiflayd 2HPBID
(D) @oopepd FoaDPLD

(E) &lenL GaMweidane

- COSETI2022 58 - B



151. Find out the incorreet pairg

1) Maharashtra . .
W ( Bi-camral legislature

e m
ii) Telangana T -
( ' = Uni-camral legislature

(i) Bihar —  Uni-camral legislature

(iv) Andhra Pradesh Bi-camral legislature

A) (), (1) and (iii) are Incorrect pairs
(B) (1) and (ii) are incorrect pairs

(C) (1) and (iii) are incorrect pairs
(D). . All are incorrect

(E) Answer not known

FUDTET QMM WIS SaTL_Hls.

() IDETTTERlgr - —  Ayeel UL e
(i) Osetsrerm — | @ree sLLOETDLD
() Semr _ —  @Ueal 5|;|_L06irrﬂ)b
(iv) <pdmdrCsen | —  Free SLLLOGTDLD

(4) ), 5) wopgd (i) sesprer Gevee
(B) (i) wpgud (ii) seupren Geem
A () wppus (i) pespren Gevem
D) cimansgb souprar GoaT

(E)  eflen Qg Mweldama

p | 59 - . CCS4T/2022
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| i 2 » . . -On :
~ 152. Match the following countries with their Mars Missi

Country Mission
(a) USA |.  Mangalyan
(b) India 9. Psyche
(c) Japan 3. Zheng He
4. TEREX

(d) China

@ O @© @

A 1 4 3 2
B) 2 1 4 3
©2 4 3 1
(D) 4 1 2 3

(E) Answer not known '

SLpaeRTL g;rr@a;mén é\{g,eivr‘mrrr'mfv g 2 161 GUMBEESI5-

o Bager

(a) w.er0.q 1: ohsoure
(b) @bHwmr 9. Psyche

(© sguurer 3. Zheng He
(d) Sanm s TEREX

@ ® © O

a1 4 3 2
®2 1 4 3
©2 4 3 1
w4 1 2 3

(E) ofenr Ggflusaidema '
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153 Which of the fdllowjng

Statements about Bhagat Singh are true?

Y In 1930, Bhagat Si“gh‘ attacked the Chittagong armouries

(i) In 1929, Bhagat Singh and B.K. Dutt threw a smoke bomb inside

the Central Legislative Assembly Hall

(i) In 1925, Bhagat Singh formed Hindustan Republican Army
(A) (i1) only

(B) * () and (iii) only

C) @ anci (11) only

(D) (i) and (iii) only

(E) Answer-not known

Epsaramib smpmisailer LasAm Qsr_iurear sflurear smbe@ps sar_ s :

1) 1930-@e ussdm AL s QWS UL SSTEMS Séslermit

(1) 1929-@¢ ussdn 9.0s. sszLeT @Qeeansg wsHW s LLIGUT@a g |

Gar(® eI ermir

(1)) 1925-<yib e Lssn @;‘r)gﬂdugnein Gt LeLewu Hpeiat
% (11) wrGw &f 4 |

(B) (i) womb (iii) wrEb &f

(C)’ (i) wpmid (11) wEED &f

XS (ii) wpgo (i) v @ &

(B) e Qsfueddae

61 CCS47T/2022
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nt of Inadia 225 e JEdp

ovenue of gnvcrnme,

Arrange the source of 1

154.
2020-21 10 descending order
(1) GST
an Personal income taX

() Excise
(iv) Corporate tax
(v) Customs

A (@, (), (iii), (iv), V)
B (i), (), @) (1i1)
© @, (v), G, @, (v)
O Gv), @, @), ), (v)

(E) Answer not known
pLOGIEIGEDET AL

202021 <y 2, GTIq HETET @pew oypflen  auBITL
afesle aflasiu®s3ls:

G GST
Gi) sefl agworar afl
(iti) Biovau |

(iv) Poeser o

(v) oms

@A) (), @), @i, @), )
B) (@), Gv), (), ), ()
(), (), (), (i), (7) -
) Gv), (i), Gid), (), (v)

(E) ehlenr GgAluaiidane.

CCS4T/2022 o



456. The greatest 5 digits number, which, when divided by 3, 5, 8 and 12 have-
9 as a remainder is

() 99972

(B) 99958

(C) 99960

D) 99962

(E) Answer not known

an Vsl QUi Bis Qwss aarmar 3, 5, 8 wopbd 12-& aEsED Gurg.

HeoLsGb B 2 GTGUﬂGU WasL QL]I'ﬂu_I ohg Q&S Grcmmrrrmg,j ——— G
(A) 99972

99958
(C) 99960
D) 99962
(E) elen Qsflweieranay

156. The ratio of 43:5: 25 1s same as
@) 2:1 |
B) 4:1
C) 7:5
(D) 7:10

(E) Answer not known

435 ; 98 GTETLIBMH(E FLOLOTET N lsLb.
4 2:1

GB’ZI 01

C) 7:5

D) 7:10
(B) ofer QaMuweildame

B 63 CCS4T/20 22
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157, The 86" Constitutional Amendment Act, 2002 has introduced th

fundamental duty under b1 A(K) 18
(A To provide free and compulsory educational nppm‘f”mf"“‘ to all ¢},
children until they attain the age of fourteen.
() To value the rich hervitage of our composite culture
() To defend the country and render national service when calj,
upon to do so
(M To protect the natural environment
(E)  Answer not known
SB-agy  @rflueamnuy  Hnssss b 2002-@abiig 51 A(K)-gw o,
Aig ULUIEL &L_ad qugﬁ]@pesuu(ﬂg,&,uup(\mmg?
M 14 awdhe ol ul L S@asd GRHDSsEREGD @Goeus WHNID S,
seell aefged
(B)  umppufu seuy seTEsTTE®S LHSSHIL LTSISTSSHE
() Gse ungstulpsts CamatLEWLOUTE CosuuamlurHD SWITTUA(BSSH
(D) @Qupers sHpESwoOL LTHETSSH
(E) &Sevi Gaflweldoame

158. How many pairs are correctly matched?
Party Symbol
1. All India Trinamool Congress — Two Flowers and Grass
2. Nationalist Congress Party —  Clock"
3. Telangana Rashtra Samiti — Car
4. Asom Gana Parishad —  Lock and Key
(A) 1 pair (B) 2 pairs
(C) 3 pairs (D) 4 pairs

(E) Answer not known
£ paacn L cihmeEr apgemen Gaanger sflwrsl QUImESSLILL (HaTeTe ?

&8 &lereid
1.  =do Gudw Silennipd sriidyev - @O Y&sdT wHpmib Yhaer
2 Caslweung amiidlyev &i 8 —  &IRS&MILD
3. g eyriasmenn greipl Muws s64) — ST
4. evnb g Uflags L woHmid Frel
(A) 1 Beseon -('ff) 2 @aﬂmu}aeﬂ
(C) 5 Bjum s (D) 4 @emansen

(K) bl Gghluehldancy
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160.

“India will be a 1 - o
Ind L oea land of many faiths equally honoured and respected, but
of one national outlppk” _ Who said this?

(A)  Mahatma Gandh;
() Dr. B.R. Ambedkay

()  Answer not known

(B) Jawaharlal Nehru
(D) Sir Syed Ahmed Khan
"@ifur ueGaum B Gsmasmerd  gwors  Gurpd  wEHEFLLEL QLTS
QEUUGSTH @Gy Ceflwis SSTCanTL L s Qe (FEHEWD erans gadlweui

(A  wsrsLT &TH m{mmﬁwn@ G

(C) Dr. B.R. SADCUSSIT
(E) &leor Qsflweldrena

(D) & evswg ASLGISTET

Which of the following statements are correct?

(1) Rajasthan plains is located to the west of Aravalli range

(i) Punjab-Haryana plains lies to the North-East of the Great Indian
Desert '

(1) Ganga plains extends from the Yamuna River in the west to
Mizoram in the east

(iv) Brahmaputra plains is located mainly in the state of Meghalaya

(A) (), 1) and (1v) only (B) (1) and (i1) only

(C) () and (111) only (D) (i1) and (iv) only

(E) Answer not known

Epssamioupmiet eraveu sflwmer aurédluniser 2

1) @rrgevgren Fw@eual < Teue6e0 OSASTL (HEE Gohdled SIDLOHEIETETS).

(11) ¥ u@ggeru-anfwmrenm soQeuallser  @pHu  ureeaasdear L HpsCs
i@ pZIeTeTe. .

(i) smemss swGeell Cupdld wepmar HoNdmss Hpsdd BIGCsTgD aey

ureiluerersy. .

(iviF Qgbwysdrr sw6eueiule Qu(pbuEd CusTawreld mbhHETeTs).

(A) (i), (i) wpgd (Av) LLED («B’)/(l) whmid (1) wEEw

(C) (i) wipmw (1ii) LG (D) (i) wpgid (v) wiEw

(K)  chien G]@r‘?lme:ﬁ]c'vmm
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161. is the thought in terms of social, educational apg

psychological well being among various communities.
(A)  Communal harmony

(B) National integration

(C) Women empowerment

(D) Community health

(E) Answer not known

veCamy swsmukisEssdaLCuwrear, sups, sd6ll wHMID 2 eTellued B 6uUMDe

Qg,m_r'rurrqsr Spgener ————— erariLi(hib.
M@)gnu BebedlemrésLd

(B) GCzélwu gmhdameantii

(C) Quaaer apenGanppid

(D) sapsmw pebd

(E) dhlen GgMweildena
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o three articleg wie RO S 1
162- The cles whicl, were amended by the Parliament of India to

restore State’s powey , make their own OBC lists are
(A 334, 342A and 3g4

(B) 338B, 341 ahd 363

©) 3383, 342A and 566

(D) 333, 341A and 362

(E) Answer not known

@s1 GPULL aigldent Llguee wifersCea sutléEDd ISSTTE®S
Brugpsrs QbAw primepoansdo Qaran® ayiulL sl Hmssb, Spad
PNl SHTE@LULS spisemets Hmsdwig.

(A) 334, 342A wpmb 366
(B) 338B, 341 wpmwd 363
(C) 338B, 342A wpmib 366

BY 333, 341A wppd 362

(E) efer Qg flweldama
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163. ﬁ] Autox_nob%l‘e Service stations, the vehicles are lifted upward using th
ydraulic Llft, which works based on |

(A) Newton’s First law -
(B) Newton’s Second law
(C) Pascal’s law

(D) All the above

(E)  Answer not known

UTS Qg6 HWg umig@b ueflumarsaid arsamtismar o wWiss THs g gy
SlHuamLlo Quikign flwa 2 wigdlser LwetupgsLiu{pEemme ?

A~ Bl 1 e gy Ppsd A4
(B) Bl 1 efler Qrerm_mb 694
O unevso a4
(D) Cuomaeior_ é){mmggjb |
- (B) Qe Qs Mweldene

164. Which of the following Equation for force is incorrect?
(A) F=mxa
(B) F=APxt

I(C) Fzm(v—u),
P

D) r-4%

(E) Answer not known

Spsbaraid sOLTRSE5E a8 alasssTar snaLimg dama?

(A) F=mxa
(B) F=APxt
o pmo=)
14
o r-2

¢
(E) &flenr Qsflwaievana

68
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.+ Choose the corpeey st
)‘ A

1(1(

Atemeny,

@) The Pulu_vnkk:n‘:.w

. S 8ystem wag in practice in the Kakatiya Kingdom.
@) Puli Thevay

< ‘ “aPtured Ney wal ir 4 after the death of
Khan Sahi, I Nerkattumseval in 1764 afte

i) Yusuf Kh : . , '
(i) Nrslag :;1 was Negotiating with the Palayakkarars, without
| AL K & WA . i
= V1€ Company administration was charged with treachery
and hanged in 1764

(iv) OlldlY?@l‘zln led one of the army units of Kattabomman.

@ @, () and (v) are coppeq
(B) (). (1) and (iii) aye correct
(C) (i) and‘(iv) are correct
(D) () and (iv) are corfect

(E) Answer not known
siluner sp@ps Coiey Qeineyn,

(@) ureaussni apanp STéa58 W0 GLyyéldn parL_parpuiled @Q(mhHss.
(1) srar sréuder @oulpEuden LaolsCoar AppsAD Coamm 1764-Gd

BerBbd esLiLmhdlermir.

(111)&b6ued BireunassSnss B SefEETLOD LnevawgaTyiaEGaT
Cuésaunigesudier mhULLsmed weismar gGd e GHOD &SI
1764@d grsdedriun L.

(iv)tepeinigaSyer L QUmbwafen uaLu9flejsefley  ananps s@@@mwLCWHH
aufIBL_Sdlqrmi. ‘

@) @), () wppod (v) shvew
B0, i) wppud (i) e o7
©) (i) wpgd (v) fua s

D) () whmb (v) dweme &fl

(E) oflan QpMwefidaa

69 CCS4T/2022 -
[Turn over

-



166. Assertion (A):  RBI controls the supply of money in the Economy,

.
Reason (R) : It wants to stabilize exchange rate and Conty,
J

inflation.

(A (A) 1s false, (R) is true

(B)  (A) is true but (R) is false

(C) (A) is true, but (R) is not the correct explanation of (A)

(D) Both (A) and (R) are true, (R) is the correct explanation of (A)

(E) "Answer not known

sgapm (A) : @pdHu Mefer uiid BT e GUTGETTSTY LI ULEIG@aE

’.asu_@uu@g'gl@w- |
smyenrd (R) : <pHlw Geameef urﬂmﬁggmm fssms Hleavarubssan,
umaﬁéﬁasgélemmés sLQUUOSSaD AHLLEDS. -

A) (A)sag; R) &f

(B) (A) &fl; gema (R) gaup . o
L@’)/ (A) &fl; <yammer (R) aramug (A)afiparer sflunar alerésoda

(D) (A) wpmw (R) @ram@w &, (R) Grsirrﬁg;j (A)eldpsrar sflurer eferésonED

(E) dfilen Opfluefidena
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57,

168.

A worker was eng
absent for some q
days, he would ha

aged for g certain number of days. But he remained
AYS and wag paid Rs. 1,387. Had he worked all the
Ve earned Rs, 1,752, How many days did he work for?

® ;i (B) 21 %
©) D) 29 %
(E) Answer not known N\ v
>
g0t @0 SO L Camassms LeanflwrgSLILLLT. e

g{_,}t;:n 32?25 UTTO®, Geuana Q&g BILG@HESTET carflons eh. 1,387
) mend : . ] .
QupBmULTT erafle 28l briseflgud Gouaner QFwIS(HHSTD oardlWoTs ¢F. 1,752

et Ceuaney Q&g BT smard STes.

aQN
(‘3/1/9 o ® 21 %
24 . D) 29 ‘)/\\\("(o o |
/

| e X % 2 \"/
¢ K A /5(‘6 \ % \%Q.\o 5 _
E A AN
If product of given three numbers is 1875 and their HCF is 5, then their
LCM is ‘
A) 75
(B) 125
(C) 375
(D) 450

(E) Answer not knoWn

(E) oller Qzflweldana

QsrRasuul L epaty  aansafler  Qumsspuear 1875 whmid SiaunBler

8.Qum.cu-5 erefed eupden 5.@um.O \ %4(/5
(A) 75 | ‘5 e
®) 125 | - | ‘54‘5’%{ |
@y 375 ' %

4§
D) 450 . _ = /{//

(E) ofen QsMweiicrena
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169. Which is in-correctly matce hed?

170.

CCS4T/2022

/@/éweﬂu_leb @iy Qe 17

[lquality be fore law |
) in matters of public

(A)  Article 14
(B) Article 17 [quality of opportunity 1

employment
ementary education

Right to el
o manage religious affairs

Q) Article 21(A)
(D) Article 26 -

(E) Answer not known

Freedom t

saupns Qummbdlujerergl 6Tl ?.

(A erdwe sewiy Wi 14
~ Qurgl CouamaalmiLiL&efe sy

©) @rdue sewiy Gfley 21(A) - A és sdef Qupb 2w
(D)  <rfwe amwﬁq 9fey 26  ~ &LOW eﬁlwa;ngrma;msﬂ ;F;lrreuéﬂ&@m > fenio

(E) eYenr Qsfleierena

The Directive Principles of State Poliéy of Indian Constitution resembles

(A) Magna Carta, 1215

(B) Charter Act 1813

(C) Instrument of Instructions, 1935
(D) Regulating Act, 1773

(E) Answer not known

@By SgHudabliy sTFaTSElET Gugjlssm_(b\ QBHpemEET .
Campmid jefliumaeiwm@b. , ,

Gurme

(A) wrserm srged, 1215

(B) Ul Lwé gL ib, 1813

M/&ﬂmgjggw Q&u_l,r_r)a;@aﬁl 1935
(D) @@mj@u@g@m gL, 1773

(E) eflen QsMwedaney

72" | | ﬁ




R —

Christianity wag

1 e 0t ] apostle of
47l Christ in the Firgt ’ellt;i;lfl}; to India by an ap
& Sa%nt . (B) Saint John
& it Vetthey (D) Saint Thomas
(B) Answer not kngyy,

o

£.9. O@BOMD - Brdm ey,
/—'—“—‘GTG'UTUQJU[T@ Qasrr
) el e B) L gren
€) el Guogy,

,(B’)/ch]g, BMLDG

Amsga wgh @pdureie GGwsallar Egrear
) eupiuc L g).

(E) denL Qﬁlﬂmaﬂm@;m

|

Arrange.the fOHOV,Ving 1anguages in the chronological order with regard
to their year of being granted the classical language status

1. Sanskrit
9. Telugu
3. Malayalam
4. Tamil
@) 2,341 (B) 3,1, 4,2
© 4,231 D) 4,1,2,3
(E) Answer not known
&@é;é;sdm Qwﬁ@‘lasmen QenQumf sEHuQupn  erhaeilar  @iglumLG0
aflensiL(p&g)6. | A
1. swavdlmsd
2. Csam@
3. eveWTeTLd _ . £
L iy )
A) 2,341 (B 3,1,4,2

E) e Qg,rﬂu_mﬂd)emv'

X 4,231 | O, 2,_'34
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' . i orest cover
173. Arrange the districts in descending order of having f

(1) Dharmapuri

(1) Erode

(1) Vellore

(v) Coimbatore

(A)
(B)
©)
D)
(E)

OTeUL_L_RBIGENET,

@nrigeuflansuie erpgis.

(), (i), (i), @iv)
(i), (v), @), (i)
@iv), (@), (i), (i)
@), (iv), @), (iii)

Answer not known

(1) siroyf

(11) mCyr®

(111) Geugyrit

(1v) GerwbysgT

@A) @), (), (i), Gv)
B (i), (v), @), (i)

(C) (iv), (1), (11), (111)

D) (@), (iv), (i), (i11)

(E) &flenr Qg fweideane

CC81TI2022

D hou

Qaram@erer  srhHseten
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I

. (D)
(E)

-, ArTange the f““”Wing

Chief Ministershiy iy, Ma

M chronological order with

drng Presidency
P.T. Rajan

A. Subburayuly Reddigy

P. Munusamy Najqy
C. Rayan

P. Subbarayan

2,4,3,5,1

2,5,3,1,4 ‘
53,1,2,4

3,1,5,2,4

Answer not known

respect to their

Mcoanﬂm&uuq LG TTe Lona;rrsmgg]ein (PSVEMLDEFFTEHE 6T éJrﬂm&Uu@)ggws.

1.

AR S o

(4)

9.1q. Fmegen

& &Uyrmyey Gyt g
9. @@J&mﬁl By @

8. gyl |

9. s&LiugTwesT

2,4,3,5,1

@ 2.53,1,4

©)
(D)

(E)

53,1,2,4
3,1,5,2,4

eflen Qg Mweidene
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re true?

5 Vhie p .
175. Which of the following statements 2
gnetic separation process

(1) Zinc blende is concentrated by ma
avity separation process

(i) Haematite is concentrated by 8r
(i) Aluminium is produced by the electrolytic reduction of fug
e

alumina
(iv) Matte is a mixture of cupric sulphide and ferrous sulphide

(A) (1) and (ii)
(B) (1) and @v)
(C) (@11) and (iii)
(D) (@Gi1) and (Gv)
(E) Answer not known
é%g;é;a;éim_mfpg;m gflwimesr ahp')QJBSGiT GTenGU ?
() Ams varer srpsl ALY papuild SLT9&s0uOE DS
(i) CapwerL . yeSuSiiy apempuie é{l_fruuﬁlé;asuu@é]g)gj |
(il) e mAu gblammel Waramb UGSUY ‘@Gmmuﬂeb RH&d - sigidafle
QupLu@F DS |
(iv) Cuolr . celg GLUAs sdeou® wHmD  @uiye soau®p gpAwuapl
SEVEn U TEGLD
A) @) wpgo ()
(B) (i) womd (1v)
L i) wppo Gii)
(D) (1) wpmw (1v)

(E) chlemi. GpMlueildene

CCS4T/2022 6



]7(“).

Which of the fo]lowing w
A Sakya Buddhist
B) Advardanandg Sabha
©) All India De ‘
) Adi Dravida Mnhni
(B)  Answer not known
GeraumhaIQUIDDIET 61,
A erddlw Quengs srign
(B) AS@USTHS ST

wer

D) <& Syrefl LD&ETERET sénL

(E) eflen Qsfweleranay

Match the following :
Indus Sites

(a) Chanhu-Daro
(b) Lothal
(c) Banavali
(d) Mitathal

@ ® @© @
A) 2 1 4 3
B) 2 3 4 1
€ 1 3 2 4
M 1 4 3 2
(E) Answer not known
QuUTBSSIS :

Sibg gollelefl psrhisar
(a) saran®-grGym
(b) Gorgg
(¢) uermeuef
(d) Oimge .
M) b)) (©

2 1 4 3
® 2 3 4 1
© 1 3 2 4
®1 4 3 2

(E) . eflen Qefuwaiicrena

@

e £0 B9

Ll e N

as founded by Rettaimalai Srinivasan?
Socioety

nNega Al 1 ]
bressed Clagses Association
ana Sabha

S FoL @Il el bened Sefleumganmed FleumisLILILL %7

Ao Qb ROESLLLCL i srisb

Excavated by
Suraj Bhan
N.G. Majumdar
S.R. Rao

Bisht

SsPeUTTTES et

@U% LI 6T
GTGEST.%J- LOSIOLDSTIT
TGV .M. [TT6U
GeiqL

7 , | CCS4T/2022 -
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178. Arrange the following plans in Chronological order.
(1) Gandhian Plan
(1) Bombay Plan
(1) Jawaharlal Nehru Plan

(V) Vishveshwarya Plan

A D). (1), (i), @v)

B (v, (i), Gi), ()

©) @), (i), @v), (i)

D) @D, (). (v), (i)

(E) Answer not known -
Epssam S msmer sT@WoLILY aflesiiL®ss)s.
1) smpdus Hio

(1) wrbCu A Luib ax™

(1) gevamiremed Crp i b
(1v) eflevCeusreumiwm S ib
(A) (1), (11), (111), (1v)
A5 (v), (i), (i), ()

(C) (1), (11), (iv), (111)

(D) (i), (1), (iv), (i11)

(f) ehlam (ul(/},l{lllllcu(l|¢,'l)(,0)6,l)

CCSAT/2022 78



17

Two dice are rolled to

am of faces as 4 gether find the probability of getting a doublet or
S )

1/9 ‘
E?; 4/9 B) 3/9

(D) 2/9
(E) Answer not knowy

@Udm'® UseLser @ty o
200 FOBD 4 e
A 19

© 49

BUSEle 2 (L Lu@wumpg Qrargan @Cr s
Bewsse, smars. :

(B) 3/9

(D) 2/9

(E) e Qsfuelaame

. Kala and Vani are friends. Kala says, “Today is my birthday” and she

asks Vani, “When will you celebrate your birthday?” Vani replies, “Today

is Monday and I celebrated my birthday 75 days ago”. Find the day when
Vani celebrated her birthday?

(&) Tuesday
(B) Wednesday
(C) Thursday
(D) Friday

(E) Answer not known _
SO WOHYID  eurent] @Heumd paTUTENT. “Q6ty aarg GOpHs BT eran Seom
daflamer. eurerflldiid “e.argl Gpps Brever aiiCugy § QamaT_THeumis?” erand
CoLLmer. <ign@ ourafl “@am Arsidpemw, prer aargemlw Gnss Braar
75 pris@Ense e QamammgGeren” aar ufeeligsrer. eurafller GppspreT
Thsé Spauier ubSmESGD T STams. :

(A) Qecueumis Slipenio
Lgen lpeno

(C) eflwmpen Spenwo

D)  Qeueref glpanio

(E) eflenr Qg Mweidaa

79 CCS4T/2022
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181. There is 60% increase in an amount in 6 years at simple Interegt

Then the compound interest of £12,000 after 3 years at the same rate ig
(A 2,160 | (B) 73,120

(©) 3,972 (D) 26,240

(E) Answer not known

o GAUOCL wEh sl dssdo 6 ansdso 60% PGPS, =G,
aly oSssdo T 12,000-5@ 3 Yan@sals HdoLsEb @6 QUL lg

0O (A), ¥ 2,160 (B) z3,1zo
\o“p* @) 3,972 (D) 2 6,240
0
E .
\\0(7 (E) e QsNwelerene

182. The population of a village increases at the rate of 7% every year. If the

present population is 90,000. The population after two years 1s

&) 96,300 | -

(B) 1,03,000 | | ~ *

(C) 1,00,000

(D) 1,038,041

(E) Answer not known

@ Eymosgler Lbéasl’_Glg,rrsms par@QUretss 1%  ofsh  oifsfadpg.
@ueunsl wasd Ggres 90,000 aalld 2 aTbsEREEL R)IE éléséﬂurrmgﬁm
&&ET QsTMs

pree e

(A) 96,300 - ro:;fp
‘ (= ;

(B) 1,03,000 ﬁ | ‘\wy |

(©) 1,00,000 0« N

@1 1,083,041 ‘ - _

(E) eflenr QgMwedichene

-CCS4T/2022 80 \ ' B l




|
|
|
|

183 Extfa copy of chromosomo

2 21 results in

(A) Sickle cell anaemj, (B) Down syndrome

(©) Kline Felter Syndrome (D) Thalassemia

(E) Answer not known

(&) =fleurdt Qrse Gorens, (BY _ayen S Gyrid
O s@@erCudLir fem Cymp D) sesSur
(E) L Qsfueldwrana '

. Which of the following is correctly paired?

(1) Pattadakkal —  Chalukyas of Vatapi

(2) Elephanta Caves —  Ashoka

(3) Ellora Caves —  Rashtrakutas

(49 Mamallapuram —  Narasimha Varma I

A 1,3,4are correct B) 2, 3, 4 are correct
(©) 4», 3, 2 are correct L (D) 4,1, 2 are correct

(E). Answer not known \

Fhlwmesr @mmmvu_lg Gg,freu Cews.

(D) uiisse —  arsnd smepsHwir

(2) aQueT_T Gaasser —  SGenai

(3) aeb(ﬁevrrmr @masa;sh — el TS TEET
wnmsuequu) e (PSOTLD pmﬂmmmr‘ruﬁm

Ml 3, 4&rﬂu.1rrmg,1 | B) 2,3, 4 sAunang

© 4,3 2sfwres O 41,2 efureg

(E) ofenL @z Mweilcrena

81 CCS4T/2022
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()
(b)
(c)
(d)

(A)
(B)
(©)
(D)
(E)

Product

Turmeric

Mat

Painting

Sungudi

@ ® @© @
1 2 3 4
2 3 4 1
1 3 2 4
2 1 4 3
Answer not known

1
2
3.
4

- Match the Geographical Indiation Tag (GI tag) product with its Place .

Place
Madurai
Erode
Pattamadai

Thanjavur

yellert @@ (GI tag) QurGLaemer eigar @)L sgL e Qurf@;i_@&;.

(d)

Qum(mer
(2) weear
(b) wumi
(¢ euaTeRTLILée (@aeflwib)
(d) sugy

@ (b (0
A) 1 2 3
B 2 3 4
€)1 3 2

(D) 2 1 4
(E) el QpMweidrana

CCS4T/2022

Lo B = b

U

G\

g1y
rGrmE)
USSLOenL_

Besenay
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186

187.

i —— A LA ——a. |.‘ ' « - ) . . o »‘ ] . Yo
18 Dot a part of the Tamilnadu’s Mirst Multi-Modal Logistics

Park.

(A)  Chennai Pory /\uthm*it,y

(B) Tamilnadu Industria] Development Corporation
() National Highways Logistics Management Limited

(D) Chennai Metropolitan Developmental Authority

(E) Answer not known

SUIDBTLRET s Taug, ueapaanub sré&@l CUTEEEISEIL LhsTele
S@LUEDGS Qsriy @dee.

(&) Ceeroas siopess spsw |

(B) s8DpTH Gsmfer euenied Bipeuens

(C) Gpegared ewanGeued g e CuoGarg@uwen eHGL
mgmmm QuBBET aueTiédls @b

(E) oflen Qsfwecvana

The Winner of “Jnanpith award” fqr the year 2021 was
(A) Damodar Mauzé (B) Krishna Sobti
(C) Amitav Ghosh (D) Nilmani Phookan
(E) Answer not known

20211 sy emmigmaTan “@reriL allhas” Ceudmpaeurt wim?

(A)  grCuwngi AuaGsn (B) dlpeayamr Gemud
25 subises Gy (D) Mowal yssan

(E)  ehlen QgMuwelidana
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3 : e of soft fi ‘ ified sedime .
188. The gas present in the pores of soft finely strat ntary rock i

(A)  Shale gas
(C) Water gas
()  Answer not known

(B) Gobar gas
(D) Oxygen gas

Quarmiburar e UT®p <A E@set e gioansafled o-arar cumuiafer Gy,

CTETEN ?

X Caged aumy

(©) B eumy

(E) &9erL QsMwecranaw

(B) Gsmur eumy

(D) <=&flgmer aumyy

189. Match the class of compound with it functional group

Compound

(a) Alcohol ‘
(b) Aldehyde
(c) Ketone

(d) Carboxylic acid

@ O @© @
A 2 1 3
B) 2 3 1
) 3 2 4
D) 2 3 4
(E) Answer not known

R

o

Functional group

- COOH
-OH
- CHO

0)
1
—C-

sl O Qummeer @iser elearu® QsmEHuLer @ et

Fal_HUGLm(meT
(a) <osanTd
(b) =oyman®
(c) & Cimer

(d) emrurseflals oiblebd

@ ® @© @
(A) 2 1 "3
B 2 3 1
(C) 3 2 4
(D) 2 3 4
(E) eflen Qgflwaildea

=R

CCS4T/2022
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o [dentify the wrong a4,

Shivaji’s Guard: ment from the following.
(B) Thlvahs vardian yggq Dadaji Kondadev
® The coronation of Shivaji was celebrated with great splendour at
Rajgosh
(C) Shivaji’s soldiers plund _
D) In 1674, Shiya; Ndered Surat in 1665

_ 1 crown ] ssuming the title of
“Chatrapaty’ ed himself by a g |

(B) Answer not known \
SpSE@TLUDMIET &eummay FoDaE aair_fs.

@A) Seurgduler UT&I&Teu e sMens) Qsnaim_Cge

‘@( eﬂmﬂé\ TTRCamey Cam anu§g) P4 G igd QameRrLm
(C) Seurdulen Lian oSyiraar &TSMS 16656 @ enMHWITiq.GuiT
D) 1674-Qlé g57U8) e Guwfe (Plg Glg @it

(B) eler QsfNweevane

" 191. Choose the correct statements -

1. Bharathi edited a Tamil weekly ‘India’. Which became the voice of
the moderates

. Bharathi participated the Surat session of congress in 1907
3. Chakravartini,

Swadesamitran Newspapers was edited by

, Bharathi
4. G. Subramaniya Iyer Published newspaper The Hindu
(A) 1 and 2 only correct (B) 1,2 and 3 only correct
(C) 2 and 3 only correct (D) 2, 3 and 4 only correct
(E) Answer not known ‘
sfuner sapmssmars sam_Hs.
L umden ‘@pHwur’ ey @sp Wsers Cadlwuaindaefen GTOnss Sabbhss).
2. 1907-Qé s srmdljen wpT o LT sebsQaTaLi.
3. ssransdafl, sCsslsran Gureanp usSflemsseiia Lmg uenflwmhdermir. ‘
4 8 @Qis usdNsmamu QaualludlLauf G. stipwefu sui.

4) 1 wHmHD 2 bW &l

©) 2 wHmn 3 wLEW &fl

(E)  fenr Qgiweidea

B) 1,2 wpmyin 3 wr@uw &
Py 2.3 wHmID 4 L Hb &M
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192, Which of the following statement is/are correct about the NITI Ayogy

I.  All Chief Ministers of States except Union Territorieg

|
|
!
Wit}?
legislature ave part of Governing Council |

II.  The Prime Minister of India is the Chairperson of the NITI Ayog

II. Finance Minister of India acts as Vice Chairman

(A)  Only IT and III

(B) OnlyII

(C) OnlyI

(D) OnlyIandII o | |
|

(E) Answer not known

Speaumpd Fmpmisefier Hé) &Gané;’ updu erbss smpm sMwmerg) ? |
" y |
L seasg wrfle wsdaisesb, s wamb Qsram welwer ArCssnisi
B8y 2 @pb Galler s euflsdampari.
II. @pAwuGrswi B <Cursder s <

III. @sdw Adwawssi gmenr smaaTs Cewdu@Epmi.

A)  1II wpms IIT e @b

ﬁf II v @w
(C) Iwrew
(D) T wpmw II v @w

(E). eflan GpRuaicrane
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194.

B

‘diagonal 13 cm.

Find the missing number
19, 121, 169, 7, 361

OO
(A) 440 (B) 266

(D) 324

() 289

(F)  Answer not known
QRALLL cTaenen & &

¢ \ AN \ﬁ" mT@lS]lq-
49,121, 169, ?, 361

A 225

@@y 289

(E) dear Qsfwuaoame

(B) 256
(D) 324

X
G
\

Find the area of a rectds

gle one of whose sides is 5 cm and

(A) 74 cm?

(B) 96 cm?

(C) 60 cm?

(D) 56 cm?

(E) Answer not known |

e Qsaieuasdar @ LssD 5 @s.85. LHYD s epaaeilLb 13 Gs.8. aaflw,
QsdueuagSen LFUIL| STERTE.

(A) 74 Qs.8°

@ 96 Gs.8" 5@
(C) 60 Qg.8."°

D) 56 Gs.8."
(E)  efilen G\p;ﬁlumﬁldomw
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195, A farmer borrowed Rs. 20,000 from a money lender at 4.5% per ann,
. . |
i simple interest. The amount paid by him to clear the loan afte,
period of b years 18 f

(A 4,500 (B) 715,500

() 2 17,000 (D) 724,500

() Answer not known

®C Meusmd T 20,000-g petrGlrenpée 4.5% ga Guuq_uﬁl.s'v @@mrﬂl‘@’%“
Stamns Qupdpni. @bs PETOSERGL b6l el PG GLaan é:;*@”ké;
Ceqiss Ceuaimrgw Qgnens v’

| S
(A) 4,500 (B) 2 15,500 @ X

g

, 5 87
(© 17,000 A 2500 T %

(E) oSenr Qs fwelerena

196. The difference between the simple interest received from two differem}
sources on ¥1500 for 3 years is ¥13.50. The difference between their rat
of interest is

4) 0.1%

B) 0.2%
©) 0.3% |
D) 0.4% | | |
(E) Answer ﬁot known

¥ 1,500-65 3 gyam(seaie B QoueCouy @Lsefled @@p@] flen_gg Safleulgsafld
aflgdunsd T 13.50 erafled eur iy, cistisaflar el wimsid
(A) 0.1% |
(B) 0.2%
%3%
(D) 0.4%
(E) eéflen QsMwefidrana
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197.
()
(b)
(©)
(d)

(A)
(B)
©)
D)
(E)

Match the following -

Varahamihira
Kalhidasa
Amarasimha

Dhanvantri

@ b (0
4 3
4 2
4 -3
3 4

N

1

3.

(d)

Answer not known

AuBE51S.

(a)
(b)
(c)
(d)

(A)
(B)

(D)
(E)

B

2
© 4 3
4

mgrra;lﬂéﬂljfr
sretgra
S|wrflibamm
semeupb Sl

(@ (b (o)

4 3
4

I

3 1

elleni_ Glgsr‘r"lu_mfﬂc'n@f)Gb

.l 4> W

(d)

Physician
Lexicographer
Sanskrit Poet

Astronomer

LD (&SI 6T

SisrmHulwe < HMwir

emdué]@g, qsﬁmr’r_

QJrrGoﬂ‘u;mb iDlepir

89
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198. Which among the following is/nre WIONg:

Political Rights include

(1) Right to vote

(2) Right to hold public office

(3) Not to criticise the government
(A) (1) and (2)

(B) (1) and (3)

(©) (2 and (3)

(D) (3) only
(E) Answer not known

SssanL smpmsafed aT8) | TEU SUDTETE| ?

<rflwe o Mepinser 2 draT._&&lws.

(1) anssaissh Mo

(2) <sn umﬂa;aﬂsﬁ‘ g meﬂs—,@m o flenwo
(3) ‘<iams aﬁ]mr’ré]ésas&r LG

A) (1) wpgd (2)

® O wsps ()

(C) (2) wpgwd> (3)

‘ ;(D)/(B) LB

(E) oflenr Qpflweiidena

CCS4T/2022 90



199. When was the first N

(A) 1964
(C) 1968

(E) Answer not known
e CHAW seval)

) 1964
(C) 1968

(B) elor Qsfuelnmag

000. Assertion (A) :

Reason (R)

ational Bducation Policy formed?

(B) 1946
(D) 1986

& Qsnereng GTOIGLITG! o (heundetin’ g7

(B) 1946
(D) 1986

According to Health and Family Welfare policy .rlote
2021-2022, the state government has effectively
responded to the challenges of Covid-19 Withogt losing
focus on maternal and child care, health initiatives and

services and other communicatable diseases and
non-communicatable diseases. ‘

The doctor to patient ratio in Tamilnadu is one of the
highest in India. -

(A) (A) is true, (R) is false

(B) Both (A) and (R) are true, (R) is the correct explanation of (A)
(C) (A) is false (R) is true :

(D) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(E) Answer not known :

adlypsse (A) :

smyend (R) :

FHIHMILD - LHPYID  GHbU pos Qsrdress @dlouy  2021-
2022-@er Lg Gamell Qsmm '&mnaﬂe&r.(ﬁurrgj s 6lpa ks
Wgeyd Apliuns Baug, SOITSMS S LoHMILD Gphos
ugmofluy ssrsny pwndser womib Csame wHoID G .Qg,rr;ogu
Crmuser Hmib QarHnrs Crmiisae Sowur Craenwumpdliug).

@pdureiled LHSGIeuMmHESD, Crmureflé s women s s
2iflsibd 2 draraupdled SLODETHID e,

(A) (A) 2-amen (R) soupy | | | N
B4 wogio (R) @ran@o 2-araw (R) erenug) (A)-@err sflwrar efarésid
C) (R) 2arenio N
§D§ EA; ia,;iw | (R) Grembo eamamw, i (R) eawg (A)-@er sfumer
Hensmid e :

(E) efier QgAweidma
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